Requisition

Supplier: AMAZON.COM

BILLING DEPARTMENT P O BOX 80463 SEATTLE WA 98108 **United States**

email:

Ship To:

RECEIVING 10 COLLEGE PARKWAY

FOLSOM CA 95630-6798

0000006424

OPEN Business Unit: GENFD Req ID: Page Date 0001048639 02/27/2024 Requisition Name: AMAZON.COM Bldg# Requester Zachary Dowell SME Requester Signature

Buyer: Brenda Haney

Approved:

Entered By: SAATIA 27-FEB-2024

Line-Schd	Description	Quantity	/ UOM	Price	Extended Amt Due Date
1-1	LARGE STORAGE BINS WITH LIDS - GREY & BLACK 3 PACK	4	EA	33.99	135.96 03/05/2024
2-1	TS 1/4 INCH TWEED CLOTH JACKET RIGHT-ANGLE INSTRUMENT CABLE FOR ELECTRIC GUITAR - 10 FT YELLOW & BROWN	6	EA	11.97	71.82 03/05/2024
3-1	FULL MOTION TV WALL MOUNT	1	EA	37.99	37.99 03/05/2024
4-1	ART CRAFT GLUE	3	EA	9.99	29.97 03/05/2024
5-1	24 PACK PLAY DOH - MULTI COLOR	2	EA	20.99	41.98 03/05/2024
6-1	WOOD BLOCK MUSICAL INSTRUMENT WITH MALLET	1	EA	9.98	9.98 03/05/2024
7-1	AGOGO BELL - TWO TONE PERCUSSION INSTRUMENT WITH WOODEN STICK	1	EA	18.99	18.99 03/05/2024
8-1	NEW BEE GUITAR CABLE - 20 FT RIGHT ANGLE	6	EA	16.14	96.84 03/05/2024
9-1	PLASTIC BUSINESS CARD HOLDER	4	EA	17.21	68.84 03/05/2024
10-1	RESEALABLE BAG - 100 PCS 5.5X7.9IN	2	EA	15.99	31.98 03/05/2024
11-1	PROMOTION APPLIED	1	EA	-4.84	-4.84 03/05/2024

539.51 Sub-total 41.81 Est. tax

Total Requisition Amount: 581.32

ORDER# 113-9274479-0425014 113-7207673-2667424 113-4079116-8526619

<u>Org</u> <u>Prog</u> <u>Sub</u> FL.VI.SWPA 09000 00000 Acct Fd 4300 12 BU <u>Proj</u> <u>Amount</u> 487Z 539.51 GENFD

Approval Signature	Approval Signature	Approval Signature

Requisition

Supplier: AMAZON.COM

BILLING DEPARTMENT P O BOX 80463 SEATTLE WA 98108 **United States**

email:

Ship To:

RECEIVING 10 COLLEGE PARKWAY FOLSOM CA 95630-6798 0000006424

OPEN **Business Unit:** GENFD Req ID: Date Page 0001048639 02/27/2024 Requisition Name: AMAZON.COM Bldg# Requester Zachary Dowell SME Requester Signature

Buyer: Brenda Haney

Approved:

Entered By: SAATIA 27-FEB-2024

Line-Schd Description Quantity UOM Price Extended Amt Due Date

Purchases Charged to Catagorical Programs, Grants or Special Project.

Regional Strong Workforce - Engineering and Makerspace Program Name:

Project Grant: 487Z

Christopher Morris Program Director:

Program Goal: Instructional materials and supplies

Approval Signature	Approval Signature	Approval Signature



Details for Order #113-9274479-0425014

Paid By: LOS RIOS CCD Placed By: Amira Saati

Order Placed: February 27, 2024

Amazon.com order number: 113-9274479-0425014

Order Total: \$74.16

Business order information

Requisition number: 0001048639

Not Yet Shipped

Items Ordered Price

4 of: GRIRIW Material Card Rack Plastic Business Card Holder Vertical Business Card Holder Wall Mount Rack Time Card Rack 28 Slot Wall Mounted Time Cards Rack Attendance Machine Cards Holder Pp

Sold by: Sen M (seller profile)

Business Price Condition: New

Shipping Address:

FOLSOM LAKE COLLEGE - RECEIVING 10 COLLEGE PKWY FOLSOM, CA 95630-6798 United States

Shipping Speed:

Standard Shipping

Payment information

Payment Method: Item(s) Subtotal: \$68.84
Pay by invoice

Shipping & Handling:

\$0.00

\$17.21

Total before tax: \$68.84

Estimated Tax: \$5.32

Grand Total: \$74.16

To view the status of your order, return to Order Summary .

Conditions of Use | Privacy Notice © 1996-2020, Amazon.com, Inc.



Details for Order #113-7207673-2667424

Paid By: LOS RIOS CCD Placed By: Amira Saati

Order Placed: February 27, 2024

Amazon.com order number: 113-7207673-2667424

Order Total: \$129.20

Business order information

Requisition number: 0001048639

Not Yet Shipped

Items Ordered Price

1 of: Pipishell Full Motion TV Wall Mount for Most 37-75 Inch TVs up to 132lbs, Wall Mount TV Bracket Articulating Swivel Tilt

Extension Leveling Max VESA 600x400mm Fits 12/16" Wood Stud, PILFK1

Sold by: Pipishell (seller profile)

Business Price Condition: New

2 of: Play Doh Modeling Compound 24-Pack Case of Colors, Party Favors, Non-Toxic, Multi-Color, 3 Oz Cans, Kids Easter Basket

\$20.99

\$37.99

Stuffers, Ages 2+ (Amazon Exclusive)

Sold by: Amazon.com Condition: New

3 of: OBSEDE Art Craft Glue Quick Dried Clear Adhesive Refill Bottles with Fine Tip Liquid Precision Quilling Glue Supplies Scrap

\$9.99

Kits Tools Applicator for Decoupage Paper Card Making 4 Fl.oz

Sold by: OBSEDE US (seller profile)

Condition: New

1 of: Wood Block Musical Instrument with Mallet Solid Hardwood Percussion Rhythm Blocks

\$9.98

Sold by: Mihey (seller profile)

Business Price Condition: New

Shipping Address:

FOLSOM LAKE COLLEGE - RECEIVING 10 COLLEGE PKWY FOLSOM, CA 95630-6798

United States

Pay by invoice

Payment information

Payment Method: Item(s) Subtotal: \$119.92

Shipping & Handling: \$2.99

Promotion applied: -\$2.99

Total before tax: \$119.92 **Estimated Tax:** \$9.28

Grand Total: \$129.20

To view the status of your order, return to $\underline{\text{Order Summary}}$.

Conditions of Use | Privacy Notice © 1996-2020, Amazon.com, Inc.



Details for Order #113-4079116-8526619

Paid By: LOS RIOS CCD Placed By: Amira Saati

Order Placed: February 27, 2024

Amazon.com order number: 113-4079116-8526619

Order Total: \$377.94

Business order information

Requisition number: 0001048639

Not Yet Shipped	
Items Ordered	Price
4 Of: GhvyenntteS Large Storage Bins with Lids (3-Pack) Closet Storage Boxes with Lid and 3 Leather Handles, Foldable Storage Baskets with Label Window for Home Office (Grey&Black, 15" x 11" x 9.7") Sold by: GhvyenntteS Store (seller profile) Product question? (Ask Seller) Business Price Condition: New	\$33.99
2 of: Funfery 100 pcs Black Smell Proof Bags Holographic Packaging Bags, Clear Resealable Odor Proof Bags Foil Pouch Zipper Bag for Food Storage, Gloss, Jewelry, Eyelash Packing for Small Business (5.5x7.9In) Sold by: Funfery (seller profile) Condition: New	\$15.99
1 of: Agogo Bell, Two Tone, Traditional Handheld Latin Percussion Instrument with Wooden Stick Sold by: Mihey (seller profile) Business Price Condition: New	\$18.99
6 of: Amazon Basics TS 1/4 Inch Tweed Cloth Jacket Right-Angle Instrument Cable for Electric Guitar, 10 Foot, Yellow & Brown Sold by: Amazon (seller profile) Business Price Condition: New	\$11.97
6 of: New bee Guitar Cable 20 ft Electric Instrument Cable Bass AMP Cord 1/4 Straight to Straight for Electric Guitar, Bass Guitar, Electric Mandolin, Pro Audio (Right Angle) Sold by: RIYOUS (seller profile) Business Price	\$16.14

Shipping Address:

FOLSOM LAKE COLLEGE - RECEIVING 10 COLLEGE PKWY FOLSOM, CA 95630-6798

United States

Condition: New

Shipping Speed:

Delivery in fewer trips to your address

Payment information		
Payment Method:	Item(s) Subtotal: \$355.59	

Pay by invoice Shipping & Handling: \$0.00
Promotion applied: -\$4.84

Total before tax: \$350.75 **Estimated Tax:** \$27.19

Grand Total: \$377.94

To view the status of your order, return to Order Summary.

Conditions of Use | Privacy Notice © 1996-2020, Amazon.com, Inc.